Garland Independent School District

GISD Sourcing Bid Tab Report

Bid#: 31790 9-17 Student Nutritional Services Disposable Products Title:

492937 *BIOPLANET CORPORATION Yes 15% 492952 *BRAUN BEEF CO INC Yes N/A 492952 *BRAUN BEEF CO INC No None 493923 CENTRAL POLY-BAG CORPORATION Yes N/A 493923 CENTRAL POLY-BAG CORPORATION Yes N/A 493983 DISPOSE N SAVE Yes 50% 493912 EMPIRE PAPER COMPANY No 0% 492954 INTERBORO PACKAGING CORP Yes 50% 4939355 MANS DISTRIBUTORS INC Yes 0 493935 MANS DISTRIBUTORS INC Yes 0 492941 *MCLANE EXPRESS INC Yes 0 493932 PRAETORIAN OPERATING INCORPORATED DBA Yes 42% off 493932 PRAETORIAN OPERATING INCORPORATED DBA Yes 42% off 493913 PRESSED PAPERBOARD TECHNOLOGIES LLC Yes 0 493932 PRAETORIAN OPERATING INCORPORATED DBA Yes 4939344 SAFEWAY SUPPLY INC No 10% 493942 UNIPAK CORP Yes 0% 493942 UNIPAK CORP Yes 0% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 4939322 WALLACE PACKAGING Yes minimu Yes 20% off 4939322 WALLACE PACKAGING Yes minimu Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY	Quote# Vendor / Supplier	FPCN	Discoun
492952 *BRAUN BEEF CO INC			
493958 BYRNE BROS FOODS INC No None	10-001 -101 -111-1 00111 011111111		
493923 CENTRAL POLY-BAG CORPORATION Yes None	10-10-1		
492943 DAXWELL Yes N/A			
493898 DISPOSE N SAVE Yes 50%			
493912 EMPIRE PAPER COMPANY			
492954 INTERBORO PACKAGING CORP Yes 50% 493936 LAST GROUP ENTERPRISES Yes 0 493935 MANS DISTRIBUTORS INC Yes 20% 492941 MCLANE EXPRESS INC YES 12% 493907 MYECOPLANET LLC Yes 0 493932 PRAETORIAN OPERATING INCORPORATED DBA 42% off 493913 PRESSED PAPERBOARD TECHNOLOGIES LLC Yes 0 493918 PYRAMID SCHOOL PRODUCTS Yes 0 493915 SERV PAK PRODUCTS Yes 0 0 4939915 SERV PAK PRODUCTS Yes 0 0 0 0 0 0 0 0 0			
493936 LAST GROUP ENTERPRISES Yes 493935 MANS DISTRIBUTORS INC Yes 20% 492941 *MCLANE EXPRESS INC YES 12% 493907 *MYECOPLANET LLC Yes 0 493932 PRAETORIAN OPERATING INCORPORATED DBA Yes 42% off 493913 PRESSED PAPERBOARD TECHNOLOGIES LLC Yes 0 493918 PYRAMID SCHOOL PRODUCTS Yes 0 493924 SAFEWAY SUPPLY INC No 10% 493954 UNIPAK CORP Yes 0% 493954 UNIPAK CORP Yes 10% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%			
493935 MANS DISTRIBUTORS INC 492941 *MCLANE EXPRESS INC 493907 *MYECOPLANET LLC 493932 PRAETORIAN OPERATING INCORPORATED DBA 493913 PRESSED PAPERBOARD TECHNOLOGIES LLC 493918 PYRAMID SCHOOL PRODUCTS 493918 PYRAMID SCHOOL PRODUCTS 493915 SERV PAK PRODUCTS 493954 UNIPAK CORP 493954 UNIPAK CORP 493954 UNISOURCE WORLDWIDE INC A VERITIV COMPANY 4939922 WALLACE PACKAGING YES 20% 42% off 42%			
492941 *MCLANE EXPRESS INC 493907 *MYECOPLANET LLC 493932 PRAETORIAN OPERATING INCORPORATED DBA 493913 PRESSED PAPERBOARD TECHNOLOGIES LLC 493918 PYRAMID SCHOOL PRODUCTS 493915 SERV PAK PRODUCTS 493915 SERV PAK PRODUCTS 493954 UNIPAK CORP 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY 493952 WALLACE PACKAGING YES 10% 10% 20% off 15%			_
493907 *MYECOPLANET LLC			_0,0
493932 PRAETORIAN OPERATING INCORPORATED DBA Yes 42% off 493932 PRAETORIAN OPERATING INCORPORATED DBA Yes 42% off 493913 PRESSED PAPERBOARD TECHNOLOGIES LLC Yes 0 493918 PYRAMID SCHOOL PRODUCTS yes 0 10% 493915 SERV PAK PRODUCTS Yes 0% 493915 SERV PAK PRODUCTS Yes 0% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%	492941 MIGLANE EXPIRESS INC	YES	12%
493932 PRAETORIAN OPERATING INCORPORATED DBA Yes 42% off 493913 PRESSED PAPERBOARD TECHNOLOGIES LLC Yes 0 493918 PYRAMID SCHOOL PRODUCTS Yes 0 493924 SAFEWAY SUPPLY INC No 10% 4939355 SERV PAK PRODUCTS Yes 0% 4939354 UNIPAK CORP Yes 10% 4939342 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%	403007 *MVECODI ANET LI C	ves	0
493913 PRESSED PAPERBOARD TECHNOLOGIES LLC Yes 0 493918 PYRAMID SCHOOL PRODUCTS yes 0 493924 SAFEWAY SUPPLY INC No 10% 493915 SERV PAK PRODUCTS Yes 0% 493954 UNIPAK CORP Yes 10% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%			42% off
493918 PYRAMID SCHOOL PRODUCTS yes 0 493924 SAFEWAY SUPPLY INC No 10% 493915 SERV PAK PRODUCTS Yes 0% 493954 UNIPAK CORP Yes 10% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%			
493924 SAFEWAY SUPPLY INC No 10% 493915 SERV PAK PRODUCTS Yes 0% 493954 UNIPAK CORP Yes 10% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%			Ö
493915 SERV PAK PRODUCTS Yes 0% 493954 UNIPAK CORP Yes 10% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%			10%
493954 UNIPAK CORP Yes 10% 493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%			
493942 UNISOURCE WORLDWIDE INC A VERITIV COMPANY Yes 20% off 493922 WALLACE PACKAGING 15%		Yes	
493922 WALLACE PACKAGING 15%			
10,0			
Yes minimu	TOOLE TIMELAGE I MOTORIO	.,	
		Yes	mınimu

9PS - Failed to provide product sample 4NS - Not to specifications 5VP - Vendor performance 4MO - Minimum order quantities too restrictive 4BV - Best overall value for this group of items 3PQI - Product Quality Inferior

4DL - Delivery lead time unacceptable

					*Confidential			
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	ALUMINUM FOIL, 18" x 500', HEAVY DUTY, .001 GAUGE, ALCAN #1851, WESTERN PLASTICS #286 OR EQUAL	Y		RL	DAXWELL	400	\$15.33	\$6,132.00
				RL	*BRAUN BEEF CO INC	400		
				RL	LAST GROUP ENTERPRISES	400	\$17.78	\$7,112.00
				RL	SAFEWAY SUPPLY INC	400	\$18.86	\$7,544.00
				RL	BYRNE BROS FOODS INC	400	\$21.09	\$8,436.00
				RL	MANS DISTRIBUTORS INC	400	\$26.12	\$10,448.00
				RL	CENTRAL POLY-BAG CORPORATION	400	\$27.90	\$11,160.00
				RL	*MCLANE EXPRESS INC	400		
	APRONS, DOMESTIC MADE, 1 MIL, WHITE HOT CAST EMBOSSED POLYETHYLENE, 28" X 46" WITH EXTRA LONG TIES, 5/100 BOXES PER CS, HANDGARDS INC							
2	#EM-2, AMBITEX #2846 OR EQUAL	N	9PS	вх	PYRAMID SCHOOL PRODUCTS	800	\$3.29	\$2,632.00
		N	4NS	вх	INTERBORO PACKAGING CORP	800	\$24.00	\$19,200.00

			1		1	1		
		Υ		вх	BYRNE BROS FOODS INC	800	\$36.70	\$29,360.00
				вх	MANS DISTRIBUTORS INC	800	\$36.70	\$29,360.00
				вх	*MCLANE EXPRESS INC	800		
3	GROCERY BAG, BROWN, 1/6-57, 1/6 BARREL, 500/BALE	Υ		BL	BYRNE BROS FOODS INC	10	\$32.80	\$328.00
				BL	MANS DISTRIBUTORS INC	10	\$32.91	\$329.10
				BL	*MCLANE EXPRESS INC	10		
	BAGS, SANDWICH (FLIP LOCK TOP), DOMESTIC							
4	MADE, NATURAL HIGH MOLECULAR, HIGH DENSITY POLYETHYLENE, .6 MIL, CLEAR, 2000/CASE	Υ		cs	MANS DISTRIBUTORS INC	50	\$8.04	\$402.00
				cs	BYRNE BROS FOODS INC	50	\$8.05	\$402.50
				cs	INTERBORO PACKAGING CORP	50	\$8.98	\$449.00
				cs	*MCLANE EXPRESS INC	50		
5	BAGS, SANDWICH (ZIP LOCK TOP), 6 1/2" X 7", 2 MIL, CLEAR, 1000/CS	Υ		ΒV	BYRNE BROS FOODS INC	30	\$11.67	\$350.10
3	GLEAR, 1000/C3	ı			MANS DISTRIBUTORS INC	30	\$11.71	\$351.30
				вх	*MCLANE EXPRESS INC	30	V	\$601.00
					PYRAMID SCHOOL PRODUCTS	30	\$22.89	\$686.70
								,
	BAKERY PAN LINERS, PARCHMENT, 16 1/2", REGULAR RELEASE, 1000/CS, PAPERCORN #25-Q-1							
6	OR EQUAL	Y		CS	LAST GROUP ENTERPRISES	800	\$25.54	\$20,432.00
				cs	BYRNE BROS FOODS INC	800	\$28.62	\$22,896.00
				cs	MANS DISTRIBUTORS INC	800	\$28.67	\$22,936.00
				CS	*MCLANE EXPRESS INC	800		
7	BOX, 2 COMPARTMENT, 6" SQUARE, CLEAR PLASTIC, 300/CS, FABRIKAL #GS6-2	Y		CS	BYRNE BROS FOODS INC	500	\$44.48	\$22,240.00
8	BOX, 4 COMPARTMENT, 6" SQUARE, CLEAR PLASTIC, 300/CS, FABRIKAL #GS6-4	Υ		cs	BYRNE BROS FOODS INC	500	\$44.48	\$22,240.00

	BOX LIDS, FITS 6" SQUARE, CLEAR PLASTIC BOX,						
9	300/CS, FABRIKAL #LGS6	Y	CS	BYRNE BROS FOODS INC	1000	\$27.72	\$27,720.00
	BOWL, 12 OZ, WHITE LAMINATED SURFACE,						
10	SWEETHEART #RS12BN, DART #12BWWC OR EQUAL	Υ	CS	*MCLANE EXPRESS INC	250		
			cs	MANS DISTRIBUTORS INC	250	\$22.67	\$5,667.50
			cs	BYRNE BROS FOODS INC	250	\$24.20	\$6,050.00
	(CPT) BOWL, 24 OZ, BLACK LAMINATED FOAM,						
11	400/CS, GENPAK #LW024-3L OR EQUAL	Υ	CS	BYRNE BROS FOODS INC	800	\$46.49	\$37,192.00
			CS	*MCLANE EXPRESS INC	800		
	CLAM SHELL, CLEAR, ONE CAVITY, APPROXIMATELY						
12	8.75" X 9.5" X 3.25"	Υ	cs	*MCLANE EXPRESS INC	400		
			cs	MANS DISTRIBUTORS INC	400	\$37.16	\$14,864.00
			cs	BYRNE BROS FOODS INC	400	\$37.58	\$15,032.00
							,
13	CLAM SHELL, CLEAR, THREE CAVITY, APPROXIMATELY 8.5" X 8.5" X 3", 10 MIL	Y	cs	*MCLANE EXPRESS INC	400		
.0	THE XIMIATEET 6.5 X 6.6 X 6 ; TO IME	•	J	MOZANE EXINESO INC	400		
			cs	MANS DISTRIBUTORS INC	400	\$39.91	\$15,964.00
			- 00	MANO DIGINIDO FONO INC	400	ψ55.51	\$13,304.00
			ce	DVDNE DDOS EGODS INC	400	\$40.39	\$16.1E6.00
			CS	BYRNE BROS FOODS INC	400	\$40.39	\$16,156.00
	CLEANING DADS CENERAL BURDOSE HAND DAD						
14	CLEANING PADS, GENERAL PURPOSE HAND PAD, MEDIUM DUTY, 6" X 9", 6 BGS/10 EA/CS	Υ	cs	PYRAMID SCHOOL PRODUCTS	400	\$8.99	\$3,596.00
			cs	*MCLANE EXPRESS INC	400		
		İ		-			
			cs	MANS DISTRIBUTORS INC	400	\$10.50	\$4,200.00
			55		730	ψ.υ.υυ	Ψ-1,2-00.00
			Ce	BYRNE BROS FOODS INC	400	\$10.90	\$4.260.00
			U.S	DIVINE BUOS FOODS INC	400	\$10.90	\$4,360.00
	COMPARTMENT TRAY W/HINGED LID, 3						
45	COMPARTMENTS, STYROFOAM, 8" X 8 1/4", WHITE,	V	CC	*MCLANE EXPRESSING	75		
15	200/CS, DART #85HT3 OR EQUAL	Υ	C3	*MCLANE EXPRESS INC	75		
				MANO DIOTRIDITADO MA		045.45	****
		 	CS	MANS DISTRIBUTORS INC	75	\$13.13	\$984.75
			_				
<u></u>			CS	BYRNE BROS FOODS INC	75	\$13.20	\$990.00

_			1	1		1		
				cs	EMPIRE PAPER COMPANY	75	\$15.24	\$1,143.00
16	CONTAINER, FRENCH FRY SCOOP BOX, 3.5 OZ, WHITE, MANSFIELD PAPER #91974 OR EQUAL, 1000/CS	Y		cs	MANS DISTRIBUTORS INC	200	\$29.90	\$5,980.00
				cs	*MCLANE EXPRESS INC	200		
				cs	BYRNE BROS FOODS INC	200	\$30.90	\$6,180.00
				cs		200	\$43.12	\$8,624.00
47	COOKIE BAG, GLASSINE, 8X5X7, OR SIMILAR,			C3	LAST GROUP ENTERPRISES			
17	1000/CS					800	NB	NB
18	CUPS, 6 OZ, INSULATED STYROFOAM, 1000/CS	Y		cs	*MCLANE EXPRESS INC	250		
					BYRNE BROS FOODS INC	250	\$14.47	\$3,617.50
				63	BTRNE BROS FOODS INC	230	\$14.47	\$3,017.30
				cs	MANS DISTRIBUTORS INC	250	\$14.63	\$3,657.50
				cs	EMPIRE PAPER COMPANY	250	\$15.05	\$3,762.50
19	CUPS, 12 OZ, INSULATED STYROFOAM, 1000/CS	Υ		CS	*MCLANE EXPRESS INC	150		
				cs	MANS DISTRIBUTORS INC	150	\$23.95	\$3,592.50
				cs	BYRNE BROS FOODS INC	150	\$24.00	\$3,600.00
				cs	EMPIRE PAPER COMPANY	150	\$24.98	\$3,747.00
				cs	EMPIRE PAPER COMPANY	150	\$24.98	\$3,747.00
20	CUPS, 12 OZ CLEAR PLASTIC, 1000/CS, FABRIKAL #KC12T OR SIMILAR	Y			EMPIRE PAPER COMPANY *MCLANE EXPRESS INC	150 100	\$24.98	\$3,747.00
20		Y		cs			\$24.98 \$43.64	\$3,747.00 \$4,364.00
20		Y		CS CS	*MCLANE EXPRESS INC MANS DISTRIBUTORS INC	100	\$43.64	\$4,364.00
20		Y		CS CS	*MCLANE EXPRESS INC	100		
20		Y		cs cs	*MCLANE EXPRESS INC MANS DISTRIBUTORS INC	100	\$43.64	\$4,364.00
20	#KC12T OR SIMILAR COMBO PACK, 12 OZ. CLEAR PLASTIC CUP, LID, &	Y		cs cs	*MCLANE EXPRESS INC MANS DISTRIBUTORS INC BYRNE BROS FOODS INC	100	\$43.64 \$44.12	\$4,364.00 \$4,412.00
20	#KC12T OR SIMILAR	Y	9PS	CS CS CS	*MCLANE EXPRESS INC MANS DISTRIBUTORS INC BYRNE BROS FOODS INC	100	\$43.64 \$44.12	\$4,364.00 \$4,412.00
	#KC12T OR SIMILAR COMBO PACK, 12 OZ. CLEAR PLASTIC CUP, LID, & INSERT, 500 EA/CASE, FABRIKAL #KC124CP OR		9PS	CS CS CS	*MCLANE EXPRESS INC MANS DISTRIBUTORS INC BYRNE BROS FOODS INC LAST GROUP ENTERPRISES	100	\$43.64 \$44.12	\$4,364.00 \$4,412.00
	#KC12T OR SIMILAR COMBO PACK, 12 OZ. CLEAR PLASTIC CUP, LID, & INSERT, 500 EA/CASE, FABRIKAL #KC124CP OR	N	9PS	CS CS CS	*MCLANE EXPRESS INC MANS DISTRIBUTORS INC BYRNE BROS FOODS INC LAST GROUP ENTERPRISES *MCLANE EXPRESS INC	100 100 100 100	\$43.64 \$44.12 \$44.99	\$4,364.00 \$4,412.00 \$4,499.00
	#KC12T OR SIMILAR COMBO PACK, 12 OZ. CLEAR PLASTIC CUP, LID, & INSERT, 500 EA/CASE, FABRIKAL #KC124CP OR	N	9PS	CS CS CS CS	*MCLANE EXPRESS INC MANS DISTRIBUTORS INC BYRNE BROS FOODS INC LAST GROUP ENTERPRISES *MCLANE EXPRESS INC	100 100 100 100	\$43.64 \$44.12 \$44.99	\$4,364.00 \$4,412.00 \$4,499.00

r					1	1		
		Υ		cs	*MCLANE EXPRESS INC	100		
				cs	MANS DISTRIBUTORS INC	100	\$55.93	\$5,593.00
				ce	BYRNE BROS FOODS INC	100	\$56.60	
				CS	BYRNE BROS FOODS INC	100	\$56.60	\$5,660.00
23	DISINFECTING WIPES, 1400/CS, CLOROX OR EQUAL	Υ		EA	MANS DISTRIBUTORS INC	300	\$36.79	\$11,037.00
				EA	*MCLANE EXPRESS INC	300		
				EA	BYRNE BROS FOODS INC	300	\$38.14	\$11,442.00
				EA	EMPIRE PAPER COMPANY	300	\$47.87	\$14,361.00
					UNISOURCE WORLDWIDE INC A VERITIV COMPANY DBA XPEDX			
				EA	LLC	300	\$59.66	\$17,898.00
				EA	PYRAMID SCHOOL PRODUCTS	300	\$60.98	\$18,294.00
	COOKIE BAG, FLIP TOP, CLEAR WITH "COOKIE BAG" PRINTED, SADDLE PACK, 5.5" X 5.5" X 1.5", EKLAY							
24	PRINTED, SAUDLE PACK, 5.5 X 5.5 X 1.5 , ERLAY DP5555PCK OR EQUAL	Υ		cs	*MCLANE EXPRESS INC	800		
				cs	BYRNE BROS FOODS INC	800	\$7.93	\$6,344.00
				cs	MANS DISTRIBUTORS INC	800	\$7.93	\$6,344.00
				cs	INTERBORO PACKAGING CORP	800	\$10.82	\$8,656.00
	FOOD STORAGE BAG, 10" X 14", DOMESTIC MADE,							
	NATURAL HIGH MOLECULAR AND DENSITY POLYETHYLENE, .6MIL, CLEAR, FOOD							
25	STORAGE/FREEZER BAG IN DISPENSER BOX, 1000/CS, HANDGARDS INC #FB-14 OR EQUAL	N	5VP	cs	INTERBORO PACKAGING CORP	50	\$10.48	\$524.00
		Υ		cs	CENTRAL POLY-BAG CORPORATION	50	\$11.40	\$570.00
				cs	BYRNE BROS FOODS INC	50	\$13.89	\$694.50
				cs	MANS DISTRIBUTORS INC	50	\$13.89	\$694.50

	,							
				cs	*MCLANE EXPRESS INC	50		
	FOOD STORAGE BAG, 18" X 24", DOMESTIC MADE, NATURAL HIGH MOLECULAR AND DENSITY							
	POLYETHYLENE, .6MIL, CLEAR, FOOD							
	STORAGE/FREEZER BAG IN DISPENSER BOX, FITS							
26	HALF SHEET PAN, 250/CS, HANDGARDS INC #FB-24 OR EQUAL	N	5VP	cs	INTERBORO PACKAGING CORP	50	\$7.82	\$391.00
		Υ		cs	BYRNE BROS FOODS INC	50	\$8.60	\$430.00
				J	DIMILE BROOT GODO INC	00	ψ0.00	Ψ-100.00
				ce	MANS DISTRIBUTORS INC	50	\$8.84	£442.00
				CO	MANS DISTRIBUTORS INC	30	\$0.04	\$442.00
				CS	*MCLANE EXPRESS INC	50		
					CENTRAL POLY-BAG			
				CS	CORPORATION	50	\$15.00	\$750.00
	FOOD STORAGE BAG, 27" X 37", DOMESTIC MADE,							
	NATURAL HIGH MOLECULAR AND DENSITY							
27	POLYETHYLENE, .6MIL, CLEAR, 200/CS, HANDGARDS INC #FB-37, LING PRODUCTS #273 OR EQUAL	Υ		CS	LACT CROUP ENTERPRISES	50		
	INO WED OF, EINO FRODOGTO WETO ON ENGAL						\$8 49	\$424 50
				00	LAST GROUP ENTERPRISES	50	\$8.49	\$424.50
					INTERBORO PACKAGING CORP	50	\$8.49 \$9.48	\$424.50 \$474.00
				cs	INTERBORO PACKAGING CORP	50	\$9.48	\$474.00
				cs	INTERBORO PACKAGING CORP			
				cs	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION	50 50	\$9.48 \$9.80	\$474.00 \$490.00
				cs	INTERBORO PACKAGING CORP	50	\$9.48	\$474.00
				cs cs cs	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE	50 50 50	\$9.48 \$9.80 \$10.82	\$474.00 \$490.00 \$541.00
				cs cs cs	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION	50 50	\$9.48 \$9.80	\$474.00 \$490.00
				cs cs cs	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE	50 50 50	\$9.48 \$9.80 \$10.82	\$474.00 \$490.00 \$541.00
				cs cs cs	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE	50 50 50	\$9.48 \$9.80 \$10.82	\$474.00 \$490.00 \$541.00
				cs cs cs	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC	50 50 50	\$9.48 \$9.80 \$10.82 \$13.28	\$474.00 \$490.00 \$541.00 \$664.00
				CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC	50 50 50	\$9.48 \$9.80 \$10.82 \$13.28	\$474.00 \$490.00 \$541.00 \$664.00
				CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC	50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28	\$474.00 \$490.00 \$541.00 \$664.00
				CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC	50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28	\$474.00 \$490.00 \$541.00 \$664.00
	FOOD TRAY, #200, 4/250 BXS PER CS, JAMES RIVER			CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC	50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28	\$474.00 \$490.00 \$541.00 \$664.00
28	KANT LEEK #KL200DR, TEMPLE INLAND #01200 OR			CS CS CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC *MCLANE EXPRESS INC	50 50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28 \$13.33	\$474.00 \$490.00 \$541.00 \$664.00 \$666.50
28		Y		CS CS CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC	50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28	\$474.00 \$490.00 \$541.00 \$664.00 \$666.50
28	KANT LEEK #KL200DR, TEMPLE INLAND #01200 OR	Y		CS CS CS CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC *MCLANE EXPRESS INC BYRNE BROS FOODS INC	50 50 50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28 \$13.33	\$474.00 \$490.00 \$541.00 \$664.00 \$666.50
28	KANT LEEK #KL200DR, TEMPLE INLAND #01200 OR	Y		CS CS CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC *MCLANE EXPRESS INC	50 50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28 \$13.33	\$474.00 \$490.00 \$541.00 \$664.00 \$666.50
28	KANT LEEK #KL200DR, TEMPLE INLAND #01200 OR	v		CS CS CS CS CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC *MCLANE EXPRESS INC *MCLANE BROS FOODS INC *MCLANE EXPRESS INC	50 50 50 50 50 50 700	\$9.48 \$9.80 \$10.82 \$13.28 \$13.33	\$474.00 \$490.00 \$541.00 \$664.00 \$666.50
28	KANT LEEK #KL200DR, TEMPLE INLAND #01200 OR	Y		CS CS CS CS CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC MANS DISTRIBUTORS INC *MCLANE EXPRESS INC BYRNE BROS FOODS INC	50 50 50 50 50 50	\$9.48 \$9.80 \$10.82 \$13.28 \$13.33	\$474.00 \$490.00 \$541.00 \$664.00 \$666.50
28	KANT LEEK #KL200DR, TEMPLE INLAND #01200 OR	Y		CS CS CS CS CS CS CS CS	INTERBORO PACKAGING CORP CENTRAL POLY-BAG CORPORATION DISPOSE N SAVE BYRNE BROS FOODS INC *MCLANE EXPRESS INC *MCLANE BROS FOODS INC *MCLANE EXPRESS INC	50 50 50 50 50 50 700	\$9.48 \$9.80 \$10.82 \$13.28 \$13.33	\$474.00 \$490.00 \$541.00 \$664.00 \$666.50

	I			ĺ	Ī	1		
29	FOOD TRAY, #300, 9" X 7", 500/CS, TEMPLE INLAND #1300 OR EQUAL	Y		cs	MANS DISTRIBUTORS INC	300	\$12.77	\$3,831.00
				cs	*MCLANE EXPRESS INC	300		
				CS	LAST GROUP ENTERPRISES	300	\$13.00	\$3,900.00
				- 00	EAST GROOF ENTER RIGES	300	ψ13.00	ψ3,300.00
				cs	BYRNE BROS FOODS INC	300	\$13.65	\$4,095.00
	FOOD TRAY, #50, 1/2 LB, 6" X 4" CURVED, 1000/CS,							
30	TEMPLE INLAND #01050 OR EQUAL	N	4MO	cs	LAST GROUP ENTERPRISES	750	\$12.03	\$9,022.50
							A 10.10	40.000
		Y		CS	BYRNE BROS FOODS INC	750	\$12.10	\$9,075.00
				cs	*MCLANE EXPRESS INC	750		
				CS	MANS DISTRIBUTORS INC	750	\$12.20	\$9,150.00
24	FORKS, POLYPROPYLENE, MEDIUM WEIGHT, WHITE,			00	DAXWELL	400	¢E 20	\$530.00
31	BULK PACK, 1000/CS	Υ		CS	DAXWELL	100	\$5.30	\$530.00
				cs	MANS DISTRIBUTORS INC	100	\$6.35	\$635.00
				CS	BYRNE BROS FOODS INC	100	\$6.50	\$650.00
				cs	*MCLANE EXPRESS INC	100		
					CENTRAL POLY-BAG			
				cs	CORPORATION	100	\$9.19	\$919.00
	GLOVES, DISPOSABLE, LATEX, LARGE, POWDER							
32	FREE, 100/BX, ESAFETY SUPPLIES #LG1293-L, CORDOVA #4015 LARGE OR EQUAL	N	5VP	cs	INTERBORO PACKAGING CORP	300	\$25.50	\$7,650.00
		Υ		cs	DAXWELL	300	\$28.65	\$8,595.00
					UNICOURCE WORLDWITZ INC.			
					UNISOURCE WORLDWIDE INC A VERITIV COMPANY DBA XPEDX			
				CS	LLC	300	\$29.68	\$8,904.00
				cs	SAFEWAY SUPPLY INC	300	\$32.50	\$9,750.00
				cs	PYRAMID SCHOOL PRODUCTS	300	\$32.90	\$9,870.00
				CS	MANS DISTRIBUTORS INC	300	\$36.40	\$10,920.00
				55	CENTRAL POLY-BAG	303	\$00.70	Ţ10,020.00
				cs	CORPORATION	300	\$36.44	\$10,932.00
		<u> </u>		CS	*MCLANE EXPRESS INC	300		

		1		1		ı	1	
				cs	BYRNE BROS FOODS INC	300	\$38.00	\$11,400.00
	GLOVES, DISPOSABLE, LATEX, MEDIUM, POWDER							
00	FREE, 100/BX, ESAFETY SUPPLIES #LG1293-M,				INTERDODO DAOKAGINO CORR		405 50	# 7 050 00
33	CORDOVA #4015 MEDIUM OR EQUAL	N	5VP	CS	INTERBORO PACKAGING CORP	300	\$25.50	\$7,650.00
		Υ		CS	DAXWELL	300	\$28.65	\$8,595.00
					UNISOURCE WORLDWIDE INC A			
				CS	VERITIV COMPANY DBA XPEDX	300	\$29.68	\$8,904.00
				"		- 555	\$20.00	ψο,σσ-1.σσ
				Ce	SAFEWAY SUPPLY INC	300	\$32.50	\$9,750.00
				US	DAI EWAT SUFFLI INC	300	φ32.30	φσ,/ 30.00
					DVD AMID COLLOC: DD CD::C=C	000	000.00	AD 070 57
<u> </u>				CS	PYRAMID SCHOOL PRODUCTS	300	\$32.90	\$9,870.00
				CS	MANS DISTRIBUTORS INC	300	\$36.40	\$10,920.00
				CS	*MCLANE EXPRESS INC	300		
				cs	BYRNE BROS FOODS INC	300	\$38.00	\$11,400.00
	GLOVES, DISPOSABLE, LATEX, SMALL, POWDER							
0.4	FREE, 100/BX, ESAFETY SUPPLIES #LG1293-S,			-	INTERDORO DAOKAGNIO CORR		400.00	** ***
34	CORDOVA #4015 SMALL OR EQUAL	N	5VP	CS	INTERBORO PACKAGING CORP	300	\$23.00	\$6,900.00
		Υ		CS	DAXWELL	300	\$28.65	\$8,595.00
					UNISOURCE WORLDWIDE INC A			
				cs	VERITIV COMPANY DBA XPEDX LLC	300	\$29.68	\$8,904.00
				cs	SAFEWAY SUPPLY INC	300	\$32.50	\$9,750.00
					-			. ,
				cs	PYRAMID SCHOOL PRODUCTS	300	\$32.90	\$9,870.00
				1	The same of the sa		\$32.00	45,010.00
				Ce	MANS DISTRIBUTORS INC	300	\$36.40	\$10,020,00
				53	INCHARGO INCOMENTATION OF THE CONTROL OF THE CONTRO	300	φ30.4U	\$10,920.00
				00	CENTRAL POLY-BAG	200	£20.44	\$40.000.00
				CS	CORPORATION	300	\$36.44	\$10,932.00
				CS	*MCLANE EXPRESS INC	300		
				CS	BYRNE BROS FOODS INC	300	\$38.00	\$11,400.00

	GLOVES, DISPOSABLE, DOMESTIC MADE, LARGE, CLEAR, SMOOTH 1 1/4 MIL, LOW DENSITY POLYETHYLENE WITH OFFSET, GAUNTLET CUFFS, HANDGARDS #0EG-100, LING PRODUCTS #482 OR							
35	EQUAL	N	4NS	PK	INTERBORO PACKAGING CORP	1200	\$1.80	\$2,160.00
		N	9PS	PK	PYRAMID SCHOOL PRODUCTS	1200	\$3.98	\$4,776.00
		Y		PK	*MCLANE EXPRESS INC	1200		
				PK	BYRNE BROS FOODS INC	1200	\$5.20	\$6,240.00
				PK	MANS DISTRIBUTORS INC	1200	\$5.20	\$6,240.00
					UNISOURCE WORLDWIDE INC A VERITIV COMPANY DBA XPEDX		***************************************	¥0,= 10100
				PK	LLC	1200	\$32.38	\$38,856.00
	GLOVES, DISPOSABLE, DOMESTIC MADE, MEDIUM, CLEAR, SMOOTH 1 1/4 MIL, LOW DENSITY POLYETHYLENE WITH OFFSET, GAUNTLET CUFFS,							
36	HANDGARDS #OEG-100, LING PRODUCTS #482 OR EQUAL	N	4NS	PK	INTERBORO PACKAGING CORP	1200	\$1.80	\$2,160.00
		N	9PS	PK	PYRAMID SCHOOL PRODUCTS	1200	\$3.98	\$4,776.00
							Ų.	¥ 1,1 1 0100
		Υ		PK	*MCLANE EXPRESS INC	1200		
				PK	BYRNE BROS FOODS INC	1200	\$5.20	\$6,240.00
				DI	MANG DISTRIBUTORS INC	4200	\$5.20	fc 240 00
				FK	MANS DISTRIBUTORS INC	1200	\$5.20	\$6,240.00
				PK	UNISOURCE WORLDWIDE INC A VERITIV COMPANY DBA XPEDX LLC	1200	\$32.38	\$38,856.00
	GLOVES, DISPOSABLE, DOMESTIC MADE, SMALL, CLEAR, SMOOTH 1 1/4 MIL, LOW DENSITY POLYETHYLENE WITH OFFSET, GAUNTLET CUFFS, HANDGARDS #0EG-100, LING PRODUCTS #482 OR							
37	EQUAL	N	4NS	PK	INTERBORO PACKAGING CORP	1200	\$1.50	\$1,800.00
		N	9PS	PK	PYRAMID SCHOOL PRODUCTS	1200	\$3.98	\$4,776.00
		Y		PK	*MCLANE EXPRESS INC	1200		

			1	1	T	1	1	
				PK	BYRNE BROS FOODS INC	1200	\$5.20	\$6,240.00
							45.00	*****
				PK	MANS DISTRIBUTORS INC	1200	\$5.20	\$6,240.00
					UNISOURCE WORLDWIDE INC A			
					VERITIV COMPANY DBA XPEDX			
				PK	LLC	1200	\$32.38	\$38,856.00
	GLOVES, UNLINED NITRILE, 22 MIL PALM							
	THICKNESS, 18" LONG, RAISED DIAMOND GRIP,							
38	MEDIUM, ONE PAIR PER BAG, SAFETY ZONE #GNGU OR EQUAL	Υ		EA	PYRAMID SCHOOL PRODUCTS	300	\$3.49	\$1,047.00
								. ,
	GLOVES, UNLINED NITRILE, 22 MIL PALM							
	THICKNESS, 18" LONG, RAISED DIAMOND GRIP, LARGE, ONE PAIR PER BAG, SAFETY ZONE #GNGU							
39	OR EQUAL	Υ		EA	PYRAMID SCHOOL PRODUCTS	300	\$3.49	\$1,047.00
	GLOVES, RUBBER, FLOCK LINED, MEDIUM, YELLOW,							
40	RIPPLE TWIST #F18LX, 144/CS, OR WORKWELL			E 4	PYRAMID SCHOOL PRODUCTS	200	\$0.44	\$132.00
40	#50055M, ANSELL EDMONT #185750 OR EQUAL	Υ		EA	PYRAMID SCHOOL PRODUCTS	300	\$0.44	\$132.00
					UNISOURCE WORLDWIDE INC A			
					VERITIV COMPANY DBA XPEDX		^ • ·	4.
				EA	LLC	300	\$57.21	\$17,163.00
	HAND TOWELS BARED BOLL SINGLE BLY 7 975							
	HAND TOWELS, PAPER, ROLL, SINGLE PLY, 7.875" WIDE, 1 5/8" CORE, 350FT PER ROLL, 12 ROLLS PER							
41	CS, GEORGIA PACIFIC #26401 OR EQUAL	Υ		CS	MANS DISTRIBUTORS INC	700	\$14.10	\$9,870.00
					*MOLANE EVENTOR INC	700		
-				cs	*MCLANE EXPRESS INC	700	+	
				CS	BYRNE BROS FOODS INC	700	\$14.20	\$9,940.00
				- 55			\$17.20	¥0,040.00
		L		cs	DAXWELL	700	\$14.31	\$10,017.00
				cs	SAFEWAY SUPPLY INC	700	\$15.98	\$11,186.00
					CENTRAL POLY-BAG			
				cs	CORPORATION	700	\$17.40	\$12,180.00
				CS	EMPIRE PAPER COMPANY	700	\$17.55	\$12,285.00
					PRAETORIAN OPERATING			
				cs	INCORPORATE DBA CAMPBELL PAPER COMPANY	700	\$17.55	\$12,285.00
		<u> </u>	1				Ţ.,,oo	Ţ, <u>_</u> 00.00

	T	1	1	1		l	1	
				cs	UNISOURCE WORLDWIDE INC A VERITIV COMPANY DBA XPEDX LLC	700	\$17.99	\$12,593.00
42	LAUNDRY SOAP, 25 LB. PAIL	Υ		EA	LAST GROUP ENTERPRISES	100	\$13.56	\$1,356.00
				EA	MANS DISTRIBUTORS INC	100	\$32.25	\$3,225.00
				EA	*MCLANE EXPRESS INC	100		
				EA	BYRNE BROS FOODS INC	100	\$33.30	\$3,330.00
43	LID, FITS 16 OZ. CLEAR PLASTIC CUP, DART #662TP OR EQUAL	N	9PS	ce	LAST GROUP ENTERPRISES	200	\$19.99	¢2 009 00
43	OR EQUAL	IN	9P3	CS	LAST GROUP ENTERPRISES	200	\$19.99	\$3,998.00
		Υ		cs	*MCLANE EXPRESS INC	200		
				ce	MANS DISTRIBUTORS INC	200	\$28.58	\$5,716.00
				- 03	MANS DISTRIBUTORS INC	200	φ20.30	\$3,710.00
				cs	BYRNE BROS FOODS INC	200	\$28.86	\$5,772.00
44	LID, FITS 9 OZ. CLEAR PLASTIC CUP, DART #610TP OR EQUAL	N	9PS	cs	LAST GROUP ENTERPRISES	200	\$19.99	\$3,998.00
		Υ		CS	*MCLANE EXPRESS INC	200		
				cs	MANS DISTRIBUTORS INC	200	\$31.52	\$6,304.00
				CS	BYRNE BROS FOODS INC	200	\$31.85	\$6,370.00
	LID, LARGE LUNCH TRAY, 17.5 MIL OPS, CLEAR, 10"							
45	X 6 3/4" X 1/2", 640/CS	Υ		cs	MANS DISTRIBUTORS INC	400	\$80.89	\$32,356.00
				ce	BYRNE BROS FOODS INC	400	\$82.00	\$32,800.00
				- 00	BTRILL BROOT GODG ING	400	ψ02.00	ψ32,000.00
				cs	*MCLANE EXPRESS INC	400		
	LUNCH BOX, WINDOWED, AUTOMATIC, ONE PIECE,							
46	FULL TOP, 6 CORNER BEERS, URB, 9 1/4" X 7 3/8" X 3 1/8", 200/CS	Υ		CC	MANS DISTRIBUTORS INC	400	\$55.60	\$22,240.00
40	176 , 200703	ı		Co	MANS DISTRIBUTORS INC	400	\$33.00	\$22,240.00
				cs	BYRNE BROS FOODS INC	400	\$56.15	\$22,460.00
				Ce	*MCLANE EXPRESS INC	400		
				55	MOZARE EXITEDO INO	700		
	MEAL TRAY 2 POCKET 24 MILL ORS BLACK 0444" Y							
47	MEAL TRAY, 2 POCKET, 24 MIL OPS, BLACK, 9 1/4" X 6 3/4" X 2 12/25", 625/CS	Υ		cs	MANS DISTRIBUTORS INC	400	\$107.60	\$43,040.00

_								
				cs	BYRNE BROS FOODS INC	400	\$108.65	\$43,460.00
				cs	*MCLANE EXPRESS INC	400		
48	MICROFIBER TOWEL, 49 GR, 16" X 16", 12/CS	N	9PS	вх	PYRAMID SCHOOL PRODUCTS	400	\$7.08	\$2,832.00
		Υ		вх	EMPIRE PAPER COMPANY	400	\$7.77	\$3,108.00
				вх	*MCLANE EXPRESS INC	400		
				ВХ	MANS DISTRIBUTORS INC	400	\$12.64	\$5,056.00
							***	45
				ВХ	BYRNE BROS FOODS INC	400	\$13.20	\$5,280.00
				DV	CAFFWAY CURRI VINC	400	£70.00	f20 700 00
				ВХ	SAFEWAY SUPPLY INC	400	\$76.80	\$30,720.00
	NAPKINS, WHITE, TALL FOLD, 7" X 13 1/2", FOLDED							
49	SZ 3 1/2" X 6 3/4", 10,000/CS	Υ		cs	DAXWELL	400	\$20.80	\$8,320.00
				CS	MANS DISTRIBUTORS INC	400	\$21.42	\$8,568.00
				CS	*MCLANE EXPRESS INC	400		
				CS	BYRNE BROS FOODS INC	400	\$21.60	\$8,640.00
				ce	CAEEWAY CURRI VINC	400	\$28.50	¢44 400 00
				03	SAFEWAY SUPPLY INC	400	φ20.30	\$11,400.00
					UNISOURCE WORLDWIDE INC A			
					VERITIV COMPANY DBA XPEDX			
				CS	LLC	400	\$42.92	\$17,168.00
	NAP BACK MEDIUM WEIGHT BOLVBBORY ENE							
	NAP-PACK, MEDIUM WEIGHT POLYPROPYLENE, BULK PACKAGING, INCLUDES FORK, SPOON,							
	STRAW (5 1/2" OR 6"), AND NAPKIN MADE OF VIRGIN PULP, 10" X 10", 500/CS, WALLACE PACKAGING							
50	#3616 OR EQUAL	Υ		cs	DAXWELL	20000	\$8.10	\$162,000.00
				cs	WALLACE PACKAGING	20000	\$9.37	\$187,400.00
				cs	*MCLANE EXPRESS INC	20000		
				CS	BYRNE BROS FOODS INC	20000	\$14.25	\$285,000.00
				CS	MANS DISTRIBUTORS INC	20000	\$14.25	\$285,000.00

	1	1	1	1	1		
	PAPER SACKS, WHITE, 8 LB, PURCHASED IN BALE QUANTITIY ONLY, 500/PK, PACKED 4/500 PER BALE,						
51	40 PK=10 BALES, DURO #80965 OR EQUAL	Υ	PK	BYRNE BROS FOODS INC	100	\$13.24	\$1,324.00
						440.50	44.050.00
			PK	MANS DISTRIBUTORS INC	100	\$13.58	\$1,358.00
			PK	*MCLANE EXPRESS INC	100		
					100		
	PLATE, 6" STYROFOAM, WHITE LAMINATED						
	SURFACE, 1000/CS, SWEETHEART #RS6BPY, DART					A.c. c=	
52	#6PWC, OR EQUAL	Υ	cs	BYRNE BROS FOODS INC	50	\$13.97	\$698.50
			CS	MANS DISTRIBUTORS INC	50	\$14.58	\$729.00
			50		"	\$14.00	\$1.25.50
			cs	*MCLANE EXPRESS INC	50		
	(CPT) PLATTER, PAPER, 7" X 9", BLACK,						
53	SWEETHEART #SR79P, GEN-PAK #LAM79-3L OR EQUAL, 1000/CS	Y	CS	MANS DISTRIBUTORS INC	600	\$35.30	\$21,180.00
00	THE		JU	III/ARG DIG TRABOTORO IRO	000	ψοσ.σσ	\$21,100.00
			cs	BYRNE BROS FOODS INC	600	\$35.47	\$21,282.00
			CS	*MCLANE EXPRESS INC	600		
	POLYESTER FILM, 18" X 2000', CLEAR, REYNOLDS						
54	#914, WESTERN #182 OR EQUAL	Υ	RL	DAXWELL	600	\$10.57	\$6,342.00
			RL	*BRAUN BEEF CO INC	600		
			DI	I AST COOLD ENTEDDDISES	600	\$11.40	¢6 940 00
			ΚL	LAST GROUP ENTERPRISES	000	\$11.40	\$6,840.00
L			RL	SAFEWAY SUPPLY INC	600	\$11.46	\$6,876.00
			RL	*MCLANE EXPRESS INC	600		
-			RL	MANS DISTRIBUTORS INC	600	\$15.04	\$9,024.00
			Di	BYDNE BDOS ECODS INC	600	\$15.10	¢0 0e0 00
			ΚL	BYRNE BROS FOODS INC	000	φ13.1U	\$9,060.00
			RL	CENTRAL POLY-BAG CORPORATION	600	\$16.67	\$10,002.00
							·
55	PORTION TRAYS, OVS, CLEAR, 2OZ, 12.5 MIL OPS, PAR-PAK #21482 OR EQUAL	No Award	cs	BYRNE BROS FOODS INC	300	\$26.62	\$7,986.00
							. ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
			cs	*MCLANE EXPRESS INC	300		

		l	I			l		
				cs	MANS DISTRIBUTORS INC	300	\$26.93	\$8,079.00
F.C	PORTION TRAY, OVS, 6 FLUID OZ, BLACK, BID 12.5	,		CC	*MOLANIC EVERESCING	500		
56	OPS, PAR-PAK #21935 & 21860 OR EQUAL	Y		C3	*MCLANE EXPRESS INC	500		
				cs	MANS DISTRIBUTORS INC	500	\$33.15	\$16,575.00
				cs	BYRNE BROS FOODS INC	500	\$33.26	\$16,630.00
	PORTION TRAY, OVS, 8 FLUID OZ, BLACK, BID 12.5					4000		
57	OPS, PAR-PAK #21736 & 21738 OR EQUAL	Y		CS	*MCLANE EXPRESS INC	1200		
				cs	MANS DISTRIBUTORS INC	1200	\$31.93	\$38,316.00
				cs	BYRNE BROS FOODS INC	1200	\$32.24	\$38,688.00
	PORTION TRAY UNIVERSIAL LIDS, FITS OVS 9-15 MIL,			00	DVDVE DDGG EGGDG IVG	400	*40.00	* 4 000 00
58	PAR-PAK #29332 OR EQUAL	Y		CS	BYRNE BROS FOODS INC	100	\$48.60	\$4,860.00
				cs	*MCLANE EXPRESS INC	100		
				cs	MANS DISTRIBUTORS INC	100	\$49.70	\$4,970.00
							7.0	+ 1,5 1 2 1 2 2
59	PORTION TRAY LIDS, FITS 2 OZ OVS TRAY, PAR-PAK #21482L OR EQUAL	No Award		cs	*MCLANE EXPRESS INC	300		
				CS	BYRNE BROS FOODS INC	300	\$26.60	\$7,980.00
				cs	MANS DISTRIBUTORS INC	300	\$27.58	\$8,274.00
	RACK COVERS, 52" X 80", DOMESTIC MADE,							
	NATURAL HIGH MOLECULAR AND DENSITY POLYETHYLENE, .6MIL, FULL BUN RACK COVER IN							
60	DISPENSER BOX, HANDGARDS #RC-80 OR EQUAL, 1/50 CT	N	5VP	cs	INTERBORO PACKAGING CORP	200	\$7.98	\$1,596.00
		Υ		CS	LAST GROUP ENTERPRISES	200	\$8.49	\$1,698.00
				cs	CENTRAL POLY-BAG CORPORATION	200	\$9.40	\$1,880.00
				cs	BYRNE BROS FOODS INC	200	\$9.49	\$1,898.00
				_				
				CS	*MCLANE EXPRESS INC	200		
				cs	MANS DISTRIBUTORS INC	200	\$11.00	\$2,200.00

		ı	1	1		1		
61	SALAD CONTAINERS, 9" X 5.5", BASES AND LIDS, PAR-PAK #21116 OR EQUAL	Y		cs	MANS DISTRIBUTORS INC	600	\$49.98	\$29,988.00
·					BYRNE BROS FOODS INC	600	\$50.00	\$30,000.00
				cs		600	ψου.σο	ψου,σου.σο
				63	MCLANE EXPRESS INC	000		
	SALAD CONTAINERS, SMOOTH WALL, CLEAR LID, BLACK BASE, 14 MIL PETE, 8" X 9 3/4" X 1 11/16",							
62	250/CS	Υ		cs	MANS DISTRIBUTORS INC	600	\$67.30	\$40,380.00
				cs	*MCLANE EXPRESS INC	600		
				cs	BYRNE BROS FOODS INC	600	\$67.40	\$40,440.00
63	SANDWICH WEDGE CONTAINER, APPROXIMATLY 4 3/8" X 3" X 3 1/4", PAR-PAK #21507 OR EQUAL	Y		cs	BYRNE BROS FOODS INC	200	\$29.20	\$5,840.00
				cs	*MCLANE EXPRESS INC	200		
							\$20.05	¢5 000 00
				CS	MANS DISTRIBUTORS INC	200	\$29.95	\$5,990.00
64	SNACK TRAY, 1 POCKET, BLACK 15 MIL OPS, 6 3/5" X 5" X 1.5", 1000/CS, ATRIUM #21896 OR SIMILAR	Y		cs	MANS DISTRIBUTORS INC	500	\$56.25	\$28,125.00
04	3 X 1.3 , 1000/03, ATRIOM #21030 OR SIMILAR			03	MANS DISTRIBUTORS INC	300	\$30.23	\$20,123.00
				CS	BYRNE BROS FOODS INC	500	\$56.31	\$28,155.00
				cs	*MCLANE EXPRESS INC	500		
65	SNACK TRAY, 2 POCKET, BLACK 15 MIL OPS, 6 3/5" X 5" X 1.5", 1000/CS, ATRIUM #21897 OR SIMILAR	Υ		cs	MANS DISTRIBUTORS INC	500	\$56.25	\$28,125.00
				2	BYRNE BROS FOODS INC	500	\$56.31	\$28,155.00
				63	BTRNE BROS FOODS INC	300	\$30.31	\$26,133.00
				CS	*MCLANE EXPRESS INC	500		
66	SNACK TRAY, 3 POCKET, BLACK 17.5 MIL OPS, 6 3/5" X 5" X 1.5", 1000/CS, ATRIUM #21903 OR SIMILAR	Υ		cs	MANS DISTRIBUTORS INC	500	\$63.05	\$31,525.00
				cs	*MCLANE EXPRESS INC	500		
							¢62.05	\$24.COE.CO
				US	BYRNE BROS FOODS INC	500	\$63.25	\$31,625.00
	SNACK TRAY LID, UNIVERSAL, CLEAR 10 MIL OPS, 6							
67	7/8" X 5 5/16" X 1.5", 1000/CS, ATRIUM #21939 OR SIMILAR	Υ		cs	MANS DISTRIBUTORS INC	750	\$43.55	\$32,662.50

				cs	*MCLANE EXPRESS INC	750		
				cs	BYRNE BROS FOODS INC	750	\$43.60	\$32,700.00
								,
	(CPT) SOUFFLE CUP LIDS, CLEAR PLASTIC, MUST FIT 2 OZ SOUFFLE CUP, 10/250 PKG/CS, SOLO #PL2-							
68	0090 OR EQUAL	Υ		cs	*MCLANE EXPRESS INC	300		
				cs	BYRNE BROS FOODS INC	300	\$16.30	\$4,890.00
				cs	MANS DISTRIBUTORS INC	300	\$17.00	\$5,100.00
				CS	LAST GROUP ENTERPRISES	300	\$18.17	\$5,451.00
				cs	DAXWELL	300	\$20.50	\$6,150.00
69	(CPT) SOUFFLE CUP LIDS, MUST FIT 3 OZ SOUFFLE CUP, FITS DART SOLO #325PC OR EQUAL	Υ		PK	*MCLANE EXPRESS INC	500		
				PK	BYRNE BROS FOODS INC	500	\$22.25	\$11,125.00
				DI.	MANG DIGTDIDUTODO INO	500	***	* 44.400.00
				PK	MANS DISTRIBUTORS INC	500	\$22.38	\$11,190.00
				PK	LAST GROUP ENTERPRISES	500	\$23.73	\$11,865.00
				PK	DAXWELL	500	\$27.85	\$13,925.00
	(CDT) COLUET E CUD 4 OZ WULTE DADED FORMICS							
70	(CPT) SOUFFLE CUP, 1 OZ, WHITE PAPER, 5000/CS, SOLO #45 OR EQUAL	Y		CS	MANS DISTRIBUTORS INC	200	\$36.50	\$7,300.00
				cs	BYRNE BROS FOODS INC	200	\$36.64	\$7,328.00
				cs	*MCLANE EXPRESS INC	200		
	SOUFFLE CUPS, 2 OZ, TRANSLUCENT PLASTIC,		4BV 68 &					
71	SOLO #B200-0100 OR EQUAL	N	71	CS	LAST GROUP ENTERPRISES	750	\$19.62	\$14,715.00
		Υ		cs	*MCLANE EXPRESS INC	750		
				cs	DAXWELL	750	\$21.12	\$15,840.00
				cs	MANS DISTRIBUTORS INC	750	\$24.95	\$18,712.50
				CS	BYRNE BROS FOODS INC	750	\$25.02	\$18,765.00
72	(CPT) SOUFFLE CUP, 3 OZ PLASTIC, DART SOLO	A.	4BV	ce	I ACT COOLID ENTERPRISES	750	\$20.04	\$22.482.F0
72	#325PC OR EQUAL	N	69&72	LS.	LAST GROUP ENTERPRISES	750	\$30.91	\$23,182.50
		Υ		cs	*MCLANE EXPRESS INC	750		

			1					
				cs	DAXWELL	750	\$33.66	\$25,245.00
				cs	MANS DISTRIBUTORS INC	750	\$35.17	\$26,377.50
				CS	BYRNE BROS FOODS INC	750	\$35.40	\$26,550.00
73	SPOON, MEDIUM WEIGHT POLYPROPYLENE, WHITE, BULK PACK, 1000/CS	Y		Ce	DAXWELL	50	\$5.30	\$265.00
13	BOLKT ACK, 1000/C3	·		03	DAXWELL	30	Ψ3.30	\$203.00
				cs	BYRNE BROS FOODS INC	50	\$6.50	\$325.00
				55	BTRILL BROOT GODO ING		\$0.00	4020.00
				cs	MANS DISTRIBUTORS INC	50	\$6.50	\$325.00
							V 0.00	4020.00
				cs	*MCLANE EXPRESS INC	50		
				cs	CENTRAL POLY-BAG CORPORATION	50	\$9.19	\$459.50
	SPONCE MOD OF NATURAL CELLUOSE SPONCE							
	SPONGE MOP, 9" NATURAL CELLUOSE SPONGE WITH SCRUBBER STRIP, STEEL HANDLE WITH							
	SWIVEL HANG CAP, HEAVY GUAGE METAL FRAME							
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL	Υ		EA	PYRAMID SCHOOL PRODUCTS	300	\$9.49	\$2,847.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y		EA	PYRAMID SCHOOL PRODUCTS	300	\$9.49	\$2,847.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y			PYRAMID SCHOOL PRODUCTS MANS DISTRIBUTORS INC	300 300	\$9.49 \$26.41	\$2,847.00 \$7,923.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y						
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y		EA				
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y		EA	MANS DISTRIBUTORS INC	300	\$26.41	\$7,923.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y		EA	MANS DISTRIBUTORS INC	300	\$26.41	\$7,923.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y		EA	MANS DISTRIBUTORS INC	300	\$26.41	\$7,923.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y		EA	MANS DISTRIBUTORS INC	300	\$26.41	\$7,923.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL	Y		EA	MANS DISTRIBUTORS INC	300	\$26.41	\$7,923.00
74	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB	Y		EA	MANS DISTRIBUTORS INC	300	\$26.41	\$7,923.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000	N	9PS	EA EA	MANS DISTRIBUTORS INC	300	\$26.41	\$7,923.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK		9PS	EA EA	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC	300	\$26.41 \$161.20	\$7,923.00 \$48,360.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK		9PS 3PQI	EA EA	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY	300	\$26.41 \$161.20	\$7,923.00 \$48,360.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION	300 300 300	\$26.41 \$161.20 \$31.89	\$7,923.00 \$48,360.00 \$9,567.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION	300 300 300	\$26.41 \$161.20 \$31.89	\$7,923.00 \$48,360.00 \$9,567.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA CS CS	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION *MCLANE EXPRESS INC	300 300 300 300	\$26.41 \$161.20 \$31.89	\$7,923.00 \$48,360.00 \$9,567.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA CS CS	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION	300 300 300 300	\$26.41 \$161.20 \$31.89	\$7,923.00 \$48,360.00 \$9,567.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA CS CS	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION *MCLANE EXPRESS INC	300 300 300 300 300	\$26.41 \$161.20 \$31.89 \$34.79	\$7,923.00 \$48,360.00 \$9,567.00 \$10,437.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA CS CS CS	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION *MCLANE EXPRESS INC	300 300 300 300 300	\$26.41 \$161.20 \$31.89 \$34.79	\$7,923.00 \$48,360.00 \$9,567.00 \$10,437.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA CS CS CS	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION *MCLANE EXPRESS INC BYRNE BROS FOODS INC	300 300 300 300 300	\$26.41 \$161.20 \$31.89 \$34.79	\$7,923.00 \$48,360.00 \$9,567.00 \$10,437.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA CS CS CS	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION *MCLANE EXPRESS INC BYRNE BROS FOODS INC MANS DISTRIBUTORS INC UNISOURCE WORLDWIDE INC A	300 300 300 300 300	\$26.41 \$161.20 \$31.89 \$34.79	\$7,923.00 \$48,360.00 \$9,567.00 \$10,437.00
	WITH SOFT GRIP ON WRINGER LEVEL, MAXISCRUB SPONGE MOP NEXSTEP #94201 OR EQUAL TOILET TISSUE, SINGLE PLY, 4 X 3.75" SHEET, 1000 SHEETS PER ROLL, 96 ROLLS PER CASE, TORK	N		EA EA CS CS CS CS	MANS DISTRIBUTORS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INC EMPIRE PAPER COMPANY CENTRAL POLY-BAG CORPORATION *MCLANE EXPRESS INC BYRNE BROS FOODS INC MANS DISTRIBUTORS INC	300 300 300 300 300	\$26.41 \$161.20 \$31.89 \$34.79	\$7,923.00 \$48,360.00 \$9,567.00 \$10,437.00

		1	1			1		
	TOWELS, FOOD SERVICE, SANITIZED CLOTH, RED,							
76	150/CS, CHICOPPEE QUAT-SAFE #0077 OR EQUAL	Υ		cs	BYRNE BROS FOODS INC	500	\$20.56	\$10,280.00
	TOWELS, FOOD SERVICE, WHITE, 150/CS,							
77	CHICOPPEE #8250 OR EQUAL	Υ		cs	BYRNE BROS FOODS INC	7500	\$23.70	\$177,750.00
				cs	PYRAMID SCHOOL PRODUCTS	7500	\$60.98	\$457,350.00
	TRASH BAG, 33" X 40", HEAVY WEIGHT, CLEAR, 33 GAL CAPACITY, "X" SEALED BOTTOM, 250/CS,							
78	PREMIUM #S40HC	N	5BV	cs	INTERBORO PACKAGING CORP	700	\$11.18	\$7,826.00
		Υ		cs	UNIPAK CORP	700	\$12.20	\$8,540.00
				cs	DISPOSE N SAVE	700	\$12.32	\$8,624.00
					OFNITRAL BOLV BAG			·
				cs	CENTRAL POLY-BAG CORPORATION	700	\$13.80	\$9,660.00
				cs	*MCLANE EXPRESS INC	700		
				cs	BYRNE BROS FOODS INC	700	\$14.10	\$9,870.00
							¥	+ = ,= : = : = :
				CS	MANS DISTRIBUTORS INC	700	\$14.10	\$9,870.00
						100	V	\$0,010.00
					UNISOURCE WORLDWIDE INC A			
					VERITIV COMPANY DBA XPEDX			
			-	CS	LLC	700	\$14.72	\$10,304.00
				CS	LAST GROUP ENTERPRISES	700	\$16.16	\$11,312.00
	TRASH BAGS, 40" X 46", HEAVY WEIGHT, CLEAR, 40-							
	45 GAL CAPACITY, FILM WEIGHT10.4 LBS, .68 MIL,							
79	"X" SEALED BOTTOM, 125/CS, PREMIUM #S46HC OR EQUAL	N	3PQI	CS	INTERBORO PACKAGING CORP	1000	\$8.82	\$8,820.00
13			31 QI	- 55	ERBORO I AORAGINO CORF	.000	ψ0.02	Ψ0,020.00
		N	3PQI	Ce	UNIPAK CORP	1000	\$9.29	\$9,290.00
		IV	эгці		OTALL AIN COINT	1000	φ5.29	ψ3,230.00
		Υ		CS	LAST GROUP ENTERPRISES	1000	\$9.55	\$9,550.00
				CO	EAST GROOF ENTERPRISES	1000	49.33	φ υ, ου.υυ
				cs	DISPOSE N SAVE	1000	\$10.18	¢10 100 00
			 	U3	DISFUSE N SAVE	1000	φ1U.18	\$10,180.00
					PRAETORIAN OPERATING INC			
					DBA CAMPBELL PAPER	4		
				CS	COMPANY	1000	\$10.33	\$10,330.00
<u> </u>				CS	*MCLANE EXPRESS INC	1000		

		ı			T	1	1 1	
				cs	MANS DISTRIBUTORS INC	1000	\$10.68	\$10,680.00
				cs	BYRNE BROS FOODS INC	1000	\$10.69	\$10,690.00
				cs	CENTRAL POLY-BAG CORPORATION	1000	\$10.80	\$10,800.00
				cs	UNISOURCE WORLDWIDE INC A VERITIV COMPANY DBA XPEDX LLC	1000	\$11.76	\$11,760.00
	TRAY, KRAFT PAPER, BREAKFAST THEMED, NESTED, APPROXIMATELY 8" X 5" X 2", 500/CS,							
80	SOUTHERN CHAMPION #05981 OR SIMILAR	N	4DL	cs	LAST GROUP ENTERPRISES	2000	\$21.24	\$42,480.00
		Y		cs	*MCLANE EXPRESS INC	2000		
				cs	BYRNE BROS FOODS INC	2000	\$22.23	\$44,460.00
				cs	MANS DISTRIBUTORS INC	2000	\$22.25	\$44,500.00
				cs	*MYECOPLANET LLC	2000		
	TRAY, LUNCH, CHECKED KRAFT PAPER, NESTED, APPROXIMATELY 10.5" X 7.5" X 1.5", 250/CS,							
81	SOUTHERN CHAMPION #0590 OR SIMILAR	Υ		CS	BYRNE BROS FOODS INC	2000	\$20.90	\$41,800.00
				cs	*MCLANE EXPRESS INC	2000		
				cs	MANS DISTRIBUTORS INC	2000	\$20.94	\$41,880.00
				cs	LAST GROUP ENTERPRISES	2000	\$21.33	\$42,660.00
				cs	*MYECOPLANET LLC	2000		
82	TRAY, 5 COMPARTMENT, FIBER (PAPER) MATERIAL, 10 3/8" X 8 3/8" X 1 3/16", WHITE, BEIGE OR APPROVED COLOR, 500/CS, PACTIV #YMC5-8000 OR EQUAL	Y		cs	WALLACE PACKAGING	2000	\$33.00	\$66,000.00
				cs	*BIOPLANET CORPORATION	2000		
				cs	*MYECOPLANET LLC	2000		
							640.00	¢94.000.00
				LS	MANS DISTRIBUTORS INC	2000	\$40.93	\$81,860.00
				cs	*MCLANE EXPRESS INC	2000		

				cs	BYRNE BROS FOODS INC	2000	\$41.48	\$82,960.00
	TRAY, 5 COMPARTMENT, STYRAFOAM, 10 3/8" X 8							
	3/8" X 1 3/16", WHITE LAMINATED TOP AND BOTTOM, 500/CS, THIS ITEM IS PALLETIZED AND UNIT PRICE							
83	MUST REFLECT THIS REQUIREMENT, GEN-PAK #10500 OR EQUAL	Y		cs	BYRNE BROS FOODS INC	12000	\$16.15	\$193,800.00
		·						,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
				cs	MANS DISTRIBUTORS INC	12000	\$16.20	\$194,400.00
				cs	*MCLANE EXPRESS INC	12000		
				CS	MCLANE EXPRESS INC	12000		
	TRAY, ENCHILADA, PRESSWARE, DESIGNED FOR USE IN MICROWAVE OR CONVENTIONAL OVENS AT							
	TEMPERATURES UP TO 400 DEGREES FOR 60 MIN, 500/CS, PACTIV CLASSIC STONEWARE #PCS5615 OR							
84	EQUAL	Υ		cs	BYRNE BROS FOODS INC	500	\$38.80	\$19,400.00
				cs	*MCLANE EXPRESS INC	500		
				0.3	MCLANE EXPRESS INC	300		
				cs	MANS DISTRIBUTORS INC	500	\$39.90	\$19,950.00
				cs	PRESSED PAPERBOARD TECHNOLOGIES LLC	500	\$65.10	\$32,550.00
	(CPT) WRAPS & BASKET LINER, 12" X 12",							
	JALAPENOS & SOMBREROS, 5/1000 PKG/CS, GENERAL PACKAGING PRODUCTS #CPPMEX OR							
85	EQUAL	N	9PS	CS	LAST GROUP ENTERPRISES	25	\$54.19	\$1,354.75
		Υ		CS	BYRNE BROS FOODS INC	25	\$65.97	\$1,649.25
								V 1,0.0.20
				cs	MANS DISTRIBUTORS INC	25	\$66.47	\$1,661.75
				cs	*MCLANE EXPRESS INC	25		
	(CPT) WRAP, SANDWICH, BLACK CHECK, 12" X 12",							
99	6/1000 PKG/CS, SPECIALTY PACKAGING #1241 OR		075		LAST ORGUD ENTERPRISES	400	65455	# E 455.00
86	EQUAL	N	9PS	CS	LAST GROUP ENTERPRISES	100	\$54.55	\$5,455.00
		Υ		cs	MANS DISTRIBUTORS INC	100	\$59.21	\$5,921.00
				cs	BYRNE BROS FOODS INC	100	\$59.23	\$5,923.00

	T		1	1	T		1	
				cs	*MCLANE EXPRESS INC	100		
	(CPT) WRAP, SANDWICH, BLUE CHECK, 12" X 12",							
	6/1000 PKG/CS, SPECIALTY PACKAGING #1243 OR							
87	EQUAL	N	9PS	CS	LAST GROUP ENTERPRISES	50	\$54.55	\$2,727.50
		Υ		CS	MANS DISTRIBUTORS INC	50	\$59.21	\$2,960.50
				CS	BYRNE BROS FOODS INC	50	\$59.23	\$2,961.50
				CS	*MCLANE EXPRESS INC	50		
	(CPT) WRAP, SANDWICH, GREEN CHECK, 12" X 12",							
	6/1000 PKG/CS, SPECIALTY PACKAGING #1247 OR							
88	EQUAL	N	9PS	CS	LAST GROUP ENTERPRISES	50	\$54.55	\$2,727.50
		Υ		cs	MANS DISTRIBUTORS INC	50	\$59.21	\$2,960.50
				cs	BYRNE BROS FOODS INC	50	\$59.23	\$2,961.50
				cs	*MCLANE EXPRESS INC	50		
	(CPT) WRAP, SANDWICH, RED CHECK, 12" X 12",							
	6/1000 PKG/CS, SPECIALTY PACKAGING #1240 OR							
89	EQUAL	N	9PS	CS	LAST GROUP ENTERPRISES	100	\$54.55	\$5,455.00
		Υ		CS	MANS DISTRIBUTORS INC	100	\$59.21	\$5,921.00
			-	CS	BYRNE BROS FOODS INC	100	\$59.23	\$5,923.00
				CS	*MCLANE EXPRESS INC	100		
	WRAP, SANDWICH, UNPRINTED FOIL, 10 1/2" X 13",							
90	2000/CS, PACKAGING DYNAMICS #00821 OR EQUAL	Υ		cs	BYRNE BROS FOODS INC	20	\$49.14	\$982.80
				cs	*MCLANE EXPRESS INC	20		
				cs	MANS DISTRIBUTORS INC	20	\$51.71	\$1,034.20
				cs	LAST GROUP ENTERPRISES	20	\$51.76	\$1,035.20
	(CDT) WD AD CANDWICH VEH OW OUTOK AS THE							
	(CPT) WRAP, SANDWICH, YELLOW CHECK, 12" X 12", 6/1000 PKG/CS, SPECIALTY PACKAGING #1245 OR							
91	EQUAL	Υ		cs	MANS DISTRIBUTORS INC	100	\$38.40	\$3,840.00
				cs	BYRNE BROS FOODS INC	100	\$38.45	\$3,845.00

				T			
			cs	*MCLANE EXPRESS INC	100		
			cs	LAST GROUP ENTERPRISES	100	\$54.55	\$5,455.00
	BAGS, COLD, WICKETED, FOR EPAC SYSTEM, 5.25" X 10.5", DESIGNED TO TAPE SEAL ON EPAC + BAG						
	SEALER, USED TO PACKAGE 5" COOKIE, CUT FRUIT						
92	& VEGETABLES, CANTALOPE, OR WATERMELON SLICE, EKON O PAC #CD59NV OR EQUAL	Υ	cs	SERV PAK PRODUCTS	100	\$89.50	\$8,950.00
							. ,
	BAGS, COLD, WICKETED, FOR EPAC SYSTEM, 10" X						
	15", DESIGNED TO TAPE SEAL ON EPAC + BAG SEALER, USED TO PACKAGE SACK LUNCH, EKON O						
93	PAC #CD1015NV OR EQUAL	Υ	cs	SERV PAK PRODUCTS	100	\$99.50	\$9,950.00
	BAG SEALING TAPE, COLD POLY TAPE 3/8" SIDE X						
	180 YDS LONG, BID ALL AVAILABLE COLORS, EKON						
94	O PAC #1402	Y	CS	SERV PAK PRODUCTS	100	\$283.50	\$28,350.00
	BAGGING SYSTEM + EPAC EQUIPMENT, INCLUDES						
95	EPAC + BAG SEALER & EPAC + BAG STAND, EKON O PAC EPAC + SYSTEM OR EQUAL	Υ	EA	SERV PAK PRODUCTS	100	\$225.00	\$22,500.00
95		Υ	EA	SERV PAK PRODUCTS	100	\$225.00	\$22,500.00